
Thank you for purchasing the TeknoCart Mobile Utility Cart. Your new cart is built to provide years of service with proper care.  
All steel construction, heavy duty adjustable shelves, and a built-in power strip make it dependable and convenient. 

Parts included: 	 Tools included: 
•	 A- Base assembly with locking front casters and built-in power strip	 •	 3mm hex wrench 
•	 B- Support frame assembly with five optional shelf position rungs	 • 	 6mm hex wrench 
•	 C- (3) Adjustable shelves, each with (2) M5 x 20 hex bolts 
•	 (2) M8x 1.25 x 25 hex bolts 
•	 (2) M8 washers 

Assembly: 
1.	 Attach support frame assembly (B) to base assembly (A) using two M8 bolts and two M8 washers. Tighten both bolts  
	 securely using the 6mm hex wrench provided. 
2.	 Using the 3mm hex wrench provided, loosen the two M5 hex bolts on the back of each shelf (C) far enough to place each shelf  
	 over the preferred support frame rung. 
3.	 Re-tighten the two M5 hex bolts on each shelf to prevent shelves from falling off rungs. Check each shelf for a secure  
	 attachment. Shelves will be able to pivot up, but should not be able to be removed from rungs (Figure 1). 

	 CAUTION: Maximum load per shelf is 25 lbs (11.4kg). Maximum total load is 75 lbs (34.1 kg). DO NOT use cart on inclined surfaces.

Cleaning: 
Your cart may be cleaned with surface cleaners and disinfects labeled safe for use on painted surfaces. DO NOT use abrasive cleaners.

Assembly Instructions

Practicon® TeknoCart™ 
Mobile Utility Cart

1-800-959-9505 • Fax 1-800-278-0885 
practicon.com • Greenville, NC 27834
Made in Italy • Instruction 7138210_1

C

A

B

Figure 1


